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14/ 10 147 %k ¥R 4) X 2.33 2.09 2.33
VR EY e/ +1.1 +2.1 +1.1
15 8 116y FEI@) X 2.15 2.09 2.15
YT FUh FEBAL /N +1.3 +0.9 +1.3
14 285 BT #E&K @) X X X
Nz FEE /N
1 11580 Ek@) RI5
15 v FEIB/N
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B/NERR 4.50
RKEH 3.66
IEGRL B fon - K # g4 -1- -2- -3- -4 -5- —6- 08k iwZ
1 17 3% F=O) 3.38 3.61 3.29 3. 61
MY Ftm kYN +1.8 +0. 1 +0.8 +0. 1
2/ 16 182 A Y SF(5) 3.45 3.53 3.56 3.56
TA/ 43 FRIN +0.4 +0.7 +0.8 +0.8
3 1 361 2T A () 3.117 3. 44 3.20 3.44
V447 % EE/ +0.2 -0.9 +1.2 -0.9
4, 12 44 7R % (D) 2.85 3.31 2.98 3.31
7Y 95 TH4 FARE N +0. 1 -1.1 -0.1 -1.1
5 18 249 /=3 BEG) 3.18 3.09 3.23 3.23
TAnt: WA ik =31 | +0.9 +1.0 +0.8 +0.8
6/ 11 291 {7k BE (D) 2.59 X 3.21 3.21
by 19t FEE /N +0. 1 -0.1 -0.1
7 10 9 HE &S5 X 2.99 3.15 3.15
Tht hk FEBER/N +0.4 -1.1 -1.1
8 6 119 R =5 5) X 2.96 3.09 3.09
b 32 FARAL /N +0.9 +1.6 +1.6
9 8 373 1845 K1E (D) 3.08 2.18 2.13 3.08
9A Y Yah =8/ +0.5 -0.9 +0.6 +0.5
10 9 212 1Rk =7 (5) 3.07 X 2.176 3.07
1y Ith FRIN +0. 1 +0. 1 +0. 1
11 5 157 #Z & (5) 2.93 2.9 3.00 3.00
YT OEETF aEdb +0.7 -1.4 +1.1 +1.1
12 13 347 % Ei5 (5) 2.94 2.76 2.89 2.94
YN 31% EE +0.9 -1.1 +0. 1 +0.9
13 4 97| 1§ ZEE(5) 2.92 X 2.85 2.92
VR2EVEELY) FARAL /N +1.2 +0.8 +1.2
14| 14 278 BEEM EF(5) X X 2.80 2.80
YTy vt g3 1\ 0.0 0.0
15/ 15 250 =1 EiE () 2.178 2.7 X 2.18
TAnt 1 ik =31 | +1.2 -0.1 +1.2
16 1 219 B E #H (5) 2.58 2.35 2.74 2.74
thy v 1/ mEAE/D 0.0 +0. 6 +1.1 +1.1
17 3 318 {H:E [XDF(H) 2.72 X 2.56 2.12
347 nY % BER/N +1.2 +0.9 +1.2
18 2 238 &k H=E(5) 2.43 2.32 2.30 2.43
1 by 713 &/ +0.4 | +2.0 +0.9 +0.4
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Y0 F h BE/ND +0.8 +0.2 +0.8 +0.2
2 1 296 KT ¥R (6) 3.69 3. 65 3.76 3.76
L2 VS BEIA/N -0.2 +1.1 +1.7 +1.7
3 14 156 | 8% && (6) 3.24 3.67 3.58 3.67
b ) v miEde +1.3 +1.7 +0. 4 +1.7
4 13 8 1845 B (6) 3.58 3.55 3.20 3.58
9Ny 14 FHR/N +0.3 +0.2 +0.4 +0.3
5 8 122 %% #F (6) 3.22 3.36 3.52 3.52
MY 735 Bz +0. 6 -0.1 +0.5 +0.5
6 6 234 Ml BEE6) 3.48 3.34 3.36 3.48
1Fh7 19% mEAE/D +0.5 +1.1 +2.7 +0.5
7 15 283 #BIM FEZ (6) X 3.45 3. 41 3.45
N x ht FEE /N +1.7 +0. 4 +1.7
8 2 12\tF#% HZE(6) 2.94 3.38 2.96 3.38
1 £t FARE /N +3.0 +1.1 +0.7 +1.1
9 9 222/ EH H(6) X 3.03 3.17 3.17
918 9775 &R/ +0.2 +0.5 +0.5
10 4 349 1L E#5(6) 3.12 2.93 2.19 3.12
Ye4E/7 EEN +0.3 +1.2 +0.7 +0.3
11 1 362 HiR #%(6) 2.97 2.80 2.817 2.97
VY it ES- U\ +1.3 +0.6 +0.5 +1.3
12 3 310 #&F+ HBE (6) 2.176 2.85 2.96 2.96
T4 1h BEEN +0. 6 +1.0 +0.7 +0.7
13) 12 288 ;Aa EifE(6) 2.66 2.53 2.43 2.66
IV FEE R/ +0.3 +0. 4 +0. 4 +0.3
14 11 148 % B 42 (6) 2.45 2. 43 X 2.45
MY e/ +0.8 +0.7 +0.8
5 377 d#E K= (6) RI5
47 a1 BER/N
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5 9 27 gzgﬂsz;’ﬁﬁ(ﬁ) A 0 o 31.86 31.86
6 11 203 gfﬁﬂﬁh%ﬂ (6) ERL X 0 27. 52 27. 52
7 5 99 EK?EI&;Hé (6) FRA 0 [26.92 0 26. 92
8 1 391 7!;’%” Z{«H (6) FAL 0 25. 79 0 25. 79
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KE#H 12. 69
FiE BBEE 54 055 + 8 OCIERIEEBE o 24 LIEBBE
[ 148] % +1.8 [ 2481  E +1.1
I& | V=Y No. E % £ e WE | JE -y No. K % £ B s
1 8 392K ADY (2) 14.35 1 5 449 KRB K% () 14.42
VR IR S A 3 L
2 7 463 lLE A7ETEQ) 14.47 2 7 457 /hEER A (2) 14.56
5 EE® 9N I h EE®
3 5 453 K@i Q) 14. 81 3 6 433 F EE1) 15. 01
FEII THh FET N3 19% FARERER
4 4 396/dtIR &A1) 15.00 4 3 AT &R HAGA) 15.15
#0513 Gy L 133 701 IR ER o
5 3 425 FE #MEFQ) 15.47 5 8 421 FB XE() 15.45
7747 At Gy L fan 13 Gy L
6 6 427 luE <) 15.73 6 20 426/ luO o E() 16.17
RE Y $h5 Gy L W0 F 1Y% Gy L
2 429 =3E BHIEQ) 4 436 IR E# ()
7 /71 Gy L R wny i Gy L R
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I& L=y No. E % £ B8 WE | I -y No. E % £ B s
1 3 M2tk BEE(2) 14. 64 1 6| 414 FTH TEXE(Q2) 14.54
A7 3 ap Gy L s Bt Gy L
2 2 409 b #&3k (1) 14.69 2 2| 422%F8 ®EQ) 15.25
YT 445 Gy L T NRAL IR ER o
3 7 460 BH =2 15.19 3 4 M8FK X (2) 15.33
#{ 7hk EE® VIR V)% Gy L
4 6 424 SBH EMR () 16.37 4 3 M3 EE EHF QD 15.62
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8 1t Ea®
2 8 452/ BFHE Q) 14.45
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UL 2R 4 ik Ly
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05 /) Gy L
5 3 415 FW FRA) 15.50
7hnk H1 Gy L
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N Yavh Gy L
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1§ V-5 No. E % £ B s
1 4 471 HHE MB#EQ) 13. 11
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2 2| A4 ETH TEE(Q2) 14.08
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MR ) L
4 6 392#5K #DUY (2) 14.20
R F 3 Gy L
5 1 457 h@EER [ Q) 14.20
9N EEH
6 3 452/ BHE Q) 14.26
B9F 743 L
77 470t EE) 14.44
UL 2R 4 ik Ly
8 8 463 ILE H7ETEO) 14.44
5 L
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B 13.49
& 9.00
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W B 1 (g FEL 8—19—6 9—23-1 9‘32‘1 S e 93?1 xéﬁ%}%
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33 454%&12%(2) wE 8.52 8.37 8.70 8.70
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